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OMB SYNOP U (All: 2243)
mean: -0.4575 rms: 1.6467 std: 1.5819
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OMB SYNOP U (Used: 1416)
mean: -0.7246 rms: 2.0725 std: 1.9417
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OMA SYNOP U (Used: 1416)
mean: -0.0686 rms: 1.4658 std: 1.4642
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OMB SYNOP V (All: 2243)
mean: -0.7130 rms: 1.9735 std: 1.8402
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OMA SYNOP V (Used: 1357)
mean: -0.1786 rms: 1.5835 std: 1.5734
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OMB SYNOP T (All: 2596)
mean: -0.0570 rms: 1.3673 std: 1.3661
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OMB SYNOP T (Used: 1653)
mean: -0.0895 rms: 1.7135 std: 1.7112
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OMA SYNOP T (Used: 1653)
mean: -0.0682 rms: 1.2914 std: 1.2895
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OMB SYNOP Q (All: 2388)

std:  0.3925
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OMA SYNOP Q (Used: 1475)
mean: 0.0593 rms: 0.3916 std: 0.3871
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OMB SYNOP P (All: 2317)
mean: -0.2627 rms: 0.8411 std: 0.7990
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OMB SYNOP P (Used: 1491)
mean: -0.4082 rms: 1.0485 std: 0.9658
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OMA SYNOP P (Used: 1491)
mean: 0.0230 rms: 0.7892 std: 0.7889
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